14z HIEN  12pt 1M MEHPK  12pt 14 HIE AN 19pt

241 xR 10pt 26 EHEK 9pt 2f mxILRE 16pt

3{i HEFF] Tpt 3fiz HBEU5 8pt 241 FEHKR 16pt

E1E F2H E-Xc}:i] F AL &t

E&RE EA:) TR T= [FORN = [7ORN T— [7ORN T—= | PORN| BRI | I—J0 | IBGL| #8& | IEAL
0 FeRE X 1 4 1 31 4 12 5 21
4 INEFHE 1 2 1 31 2 23 3 31
6 BELz® 1 1 1 31 1 31 2 41
8 HAXBAEF 1 2 1 31 2 23 3 31
14 HEARETE 0 0 0 44 0 43 0 51
20 RERIF X 2 1 2 25 1 31 3 31
23 iR 7 9 7 3 9 2 16 2
26 ERZN 5 3 5 10 3 17 8 13
73 =L 3R 0 0 0 44 0 43 0 51
99 fREEZR 0 1 0 44 1 31 1 45
100 HINEAN 12 7 12 1 7 4 19 1

[ wAxivA T s Ho8 B3 Bt att

5ES EAI] FURM = |FORMN T—= | TORN T—L [ZORM T— | PORR| BRI | I—)U | IERL| #84 | AL
3 HEH 5 2 5 10 2 23 7 16

5 IEHD 4 1 4 15 1 31 5 21

7 FEHBE 3 6 3 20 6 6 9 10

8 REER 4 1 4 15 1 31 5 21

9 A& 2 2 2 25 2 23 4 29
11 KEV5 4 8 4 15 8 3 12 5
23 FHIERK 1 5 1 31 5 10 6 18
24 | EFRMF 0 0 0 44 0 43 0 51
52 EiERi 3 6 3 20 6 6 9 10
- AR 0 0 0 44 0 43 0 51

o ] s gom | ®om | HOH &t

&5 Z=L:0] FORM T—IL |[FERN =L [FORN =0 [FORN TG—0 | PORN | IERL | I—)U | IBGRL| #4E | IEA
% HEE 0 0 0 44 0 43 0 51

AR 1 0 1 31 0 43 1 45

WwIEZE X 4 1 4 15 1 31 5 21

EHD 2 1 2 25 1 31 3 31

HhiniE 1 0 1 31 0 43 1 45

HH B 0 1 0 44 1 31 1 45
FETHIHTIE| 7 3 7 3 3 17 10 8
KLITSHAIZF 6 1 6 7 1 31 7 16

Bimz XiE 1 4 1 31 4 12 5 21




MR &F 0 3 0 44 3 17 3 31
i 1 0 1 31 0 43 1 45
i 3 0 3 20 0 43 3 31
bHE 1 1 1 31 1 31 2 41
PRPa 2 0 2 25 0 43 2 41
90s E1E F 2 E-Xc}:i] E-Xc):o] =X
&S & i TR T=U [FORN T= [7ORK T— [7ORM T=L | PORK| BRI | I—0 | IBGL| #8& | IEGL
TR 5 5 5 10 5 10 10 8
HWE =] 7 4 7 3 4 12 11 7
ZRILE 10 6 10 2 6 6 16 2
mEHAX 3 12 3 20 12 1 15 4
BRPSE 4 0 4 15 0 43 4 29
= IFPLVE 5 7 5 10 7 4 12 5
VOLTEX FE1E E %2k il F 35 E-¥ch:n] A&t
&= Z21:1] FYAN TV |FYRN T—)L [FURN T—)L [TURN = | PR | B | I—)L | IBRL| #E& | B
0O B 6 2 6 7 2 23 8 13
e —# 1 2 1 31 2 23 3 31
O EFIRE| 3 2 3 20 2 23 5 21
KR ZT|= 2 1 2 25 1 31 3 31
g R 1 0 1 31 0 43 1 45
AEDHm 0 6 0 44 6 6 6 18
MARS 0 0 0 44 0 43 0 51
THER 0 0 0 44 0 43 0 51
Voladores 180 F 28 $E3E HE 3 &t
5E&5 Z21:1] FURM T—=L |FYRMN T—= [ TORMN =L [ZLRMN T—L | PORR IBEL | I—)L | IBGL| #44 | IEAL
= Rl 7 1 7 3 1 31 8 13
TRk A 1 4 1 31 4 12 5 21
WARSEE 0 2 0 44 2 23 2 41
HHERE 2 4 2 25 4 12 6 18
ZpEF 6 3 6 7 3 17 9 10
BORE 0 3 0 44 3 17 3 31
IEAEIR 5 0 5 10 0 43 5 21
S 0 3 0 44 3 17 3 31
RS T A 4 7 4 15 7 4 11 7




